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The region extends over 15 tiles and two nodes, I3_2 and I3_3.

CTI−corrected fit parameters:
−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Model:  wabs[1]( mekal[2] )
Model Fit Model Component  Parameter  Unit     Value
par   par comp
1    1    1   wabs       nH       10^22     4.0700E−02 frozen
2    2    2   mekal      kT       keV        10.09     +/−  0.4926
3    3    2   mekal      nH       cm−3       1.000     frozen
4    4    2   mekal      Abundanc           0.2880     +/−  0.5278E−01
5    5    2   mekal      Redshift           0.5410     frozen
6    6    2   mekal      Switch              1.000     frozen
7    7    2   mekal      norm               3.6782E−03 +/−  0.6629E−04

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−

Chi−Squared =      100.3393     using   117 PHA bins.
Reduced chi−squared =     0.8801696     for    114 degrees of freedom
Null hypothesis probability = 0.816

Non CTI−corrected fit parameters:
−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Model:  wabs[1]( mekal[2] )
Model Fit Model Component  Parameter  Unit     Value
par   par comp
1    1    1   wabs       nH       10^22     4.0700E−02 frozen
2    2    2   mekal      kT       keV        9.820     +/−  0.4900
3    3    2   mekal      nH       cm−3       1.000     frozen
4    4    2   mekal      Abundanc           0.2154     +/−  0.4928E−01
5    5    2   mekal      Redshift           0.5410     frozen
6    6    2   mekal      Switch              1.000     frozen
7    7    2   mekal      norm               3.7487E−03 +/−  0.6508E−04

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−

Chi−Squared =      147.3535     using   117 PHA bins.
Reduced chi−squared =      1.292575     for    114 degrees of freedom
Null hypothesis probability = 1.935E−02


